Complete the following questions and email them to the instructor. Answer the questions using a different colored font than black.
Concept Check Question #1-
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Which of the following two words is the name of the X axis: 
Spring displacement / Weight W
Which of the following two words is the name of the Y axis: 
Spring displacement / Weight W
Calculate the slope of the line, show your work-

In this experiment, what represents the IV?

In this experiment, what represents the DV?

What type of relationship is being shown by this graph?

Explain why this graph is a line graph, not a bar graph.

Concept Check Question #2-
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Underline the name of the X axis:    Hunters / Deer
Underline the name of the Y axis:   Hunters / Deer
Calculate the slope of the line between 300 and 400 hunters, show your work-

In this experiment, what is the IV?

In this experiment, what is the DV?

What type of relationship is being shown by this graph?

Explain why this graph is a line graph, not a bar graph.

